Name: Date:

Teacher: Class:

Multiplication/Division 419

TSR Why didn't the hotdog star in the movies? The rolls weren't
good enough.

NO remainder.

x 8 x 7 X 6 X 6 X 6

6. 7. 8. 9 10
6)486 9)396 7)469 6)528 9)864
x 7 X 6 x7 x 7 x 8

16. 17. 18. 19. 20.
7)287 6)192 9)558 8)240 6)480
x 7 x 9 x 7 x 8 x 9

26. 27. 28. 29. 30.
8)488 7)658 6)204 7)980 6)570
31. 799 32. 588 3. 761 34. 280 35. 197
x 7 x 7 x 9 x 8 x 8

40.

36. 37. 38. 39.
7)287 6)192 9)558 8)240 6)480

© Facilitators Ferriswheel Score:



Answer Key Date:

Teacher: Class:

Multiplication/Division 419

TR ' —i Why didn't the hotdog star in the movies? The rolls weren't
good enough.

NO remainder.

- 498 2. 546 3 184 4 752 > 815

x 8 x 7 X 6 X 6 X 6
3,984 3,822 1,104 4,512 4,890
6. 81 7. 44 8. 67 9. 88 10. 96
6)486 9)396 7)469 6)528 9)864
11. 255 12. 915 13. 851 14. 270 15. 197
x 7 X 0 x 7 x 7 X 8
1,785 5,490 5,957 1,890 1,576

16. 41 17. 32 18. 62 19. 30 20. 80

7)287 6)192 9)558 8)240 6)480

21 741 2. 678 25 838 2 972 % 582
x 7 x 9 x 7 x 8 x 9
5,187 6,102 5,866 7,776 5,238

26. 61 27. 94 28. 34 29. 140 30. 05

8)488 7)658 6)204 7)980 6)570

31. 799 32. 588 33. 761 34, 280 35. 197
x 7 x 7 x 9 x 8 x 8
5,593 4,116 6,849 2,240 1,576
36. 41 37. 32 38. 62 39. 30 40. 80
7)287 6)192 9)558 8)240 6)480

© Facilitators Ferriswheel Score:



